

PRODUCTO DE BINOMIOS

$$(a + b)(a + b) =$$

	a	+b
a	a^2	ab
+b	ab	b^2

$$= a^2 + 2ab + b^2$$

$$(a + 8)(a + 8) =$$

	a	+8
a	a^2	8a
+8	8a	64

$$= a^2 + 16a + 64$$

$$(a + 3)(a + 5) =$$

	a	+3
a	a^2	3a
+5	5a	15

$$= a^2 + 8a + 15$$

Arrastra la respuesta correcta

$$(a + 8) (a + 6) =$$

$$(a + 4) (a + 3) =$$

$$(a + 2) (a + 1) =$$

$$(a + 9) (a + 10) =$$

$$(a + 6) (a + 3) =$$

$$(a + 7) (a + 1) =$$

$$(a + 8) (a + 7) =$$

$$(a + 12) (a + 7) =$$

$$(a + c) (a + c) =$$

$$(x + y) (x + y) =$$

$$x^2 + 2xy + y^2$$

$$a^2 + 14a + 48$$

$$a^2 + 8a + 7$$

$$a^2 + ac + c^2$$

$$x^2 + xy + y^2$$

$$a^2 + 9a + 18$$

$$a^2 + 19a + 84$$

$$a^2 + 19a + 90$$

$$a^2 + 2ac + c^2$$

$$a^2 + 15a + 56$$

$$a^2 + 3a + 2$$

$$a^2 + 7a + 12$$